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In a testcross involving F; dihybrid flies, more
parental-type offspring were produced | than the
recombinant-ty pe offspring. This indicates :

(1) Both of the characters are controlled by more
than one gene. Sy

(2)  The two genes are located on two different
chromosomes.

(3) Chromosomes failed to separate during

meiosis.
The two genes are linked and present on the
same chromosome.

@ Water soluble pxgments found mgiant cell vacuoh\

£ ]

5

4.

5.

Anthocyanins
(@) Xanthophylls y \Ck_\! g o
(3)  Chlorophylls
(4)  Carotenoids

Which of the following pairs of hormones are not

antagonistic (having opposite effects) fo eac
other? 66})%
(1) axﬂ - Inhibin
Parathormone - Calcitonin
(3) Insulin - Glucagon v~
(4) Aldosterone -  Atrial Natriuretic FactSr

Mitochondria and chloroplast are :

(a) semi-autonomous organelles,

()  formed by division of pre - existing organelles
and they contain DNA but lack protein
synthesizing machinery.

Which one of the following options is correct ?
(1)  Both(a)and (b) are false.
(2)  Both(a)and (b) are correct.

(b) is true but (a) is false.

‘(325 true but '(_bl is false.

Which of the following is not a feature of the
plasmids ?

Single - stranded ¢
(2)  Independent replication
(3)  Circular structure’\,~
(4)  Transferable ./

:-._-»_%\9»\,

3.

LA [
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[Enghsh Fiindi]
it yeEm 4, faad F, fgdet afwgal wine o,
TS YT ) Hafadi # gen § s wwmn #
wafral st soa= g | g o faad # -
(1) 3 & T @ e oE d wafaes SiE g
e ¥
() @A E e o W e &)
(3) AT F A ORA JuF T @ T
@) <A "eed # 3R uE € e W faeee
#i

e HIwE F W § 5 gfew gt F6 9 E
g7

(1) v

@ FfEa

(3) WUEfE

(4) HfeEe

waE & frefafas gl § 9 6@ g uw-g

1 fanedt (fardia g =) @ 872
HEdEE]

@ TEmE - SfegatE

@) wHfem - TR

@ TSR - e Afpphw ans

TR o s (wfee) # -

(a) anfmEmEw 3imE E)

b) G s % faweE @ W ¥ o e
DNA &l &, dfd Tem-Hyeldl gue &
WS B E

frfafaa fasedi 4 2 s- T ad@ 22

(1) (a) 3 (b) ST & e F

@  (a) 3 () I TEE

@) (b) T & WA (a) TEE

(4) (a) WE T AfFA (b) TG T

frefafas § § 55 91 U wifens %1 sfveson w@
%7

(1) THA-TIEA
() TEdA gfaRdEA
(3) gaEEE

(4) TR Ay



embibe

AIPMT 2016

Question

English-+Hindi

6. A plant in your garden avoids photorespiratory
losses, has improved water use efficiency, shows
high rates of phutqsynthesis at high temperatures
and has improved efficiency of nitrogen utilisation.
In which of the following physiological groups
woulw this plant ?

(1) _Nitrogen fixer

been instrumental in the d:scovegg of

(1)  Oxidative phosphorylation

(2) Photophosphorylation and non-cyclic
electron transport

(3)  Two photosystems operating simultaneously
(4) I’hctophosphorylaliﬁ and cyclic electron
transport

8. Which type of tissue correctly matches with its

location ?
Tissue Location
Cuboidal epithelium Lining of stomach
(2)  Smooth muscle Wall of intestine
(3)  Areolar tissue Tendons X

Transitional epithelium  Tip of nose M

/Mv\j}mnd the i
i ic model j

Qes the growth rate ofa population following
thﬂgg%%?ﬁ@.m? The logistic
given as t = IN(1-N/K):

(1) en death rate is greater than birth ra.l'g;
when N /K is exactly one. ] ®

(3)  when N nears the carrying capacity of the
habitat.

(4)  whenN/K equals zero.

1
10.  Which one of the following sta_t_qm_g@ 0]
(1) Stored pollen in liquid nitrogen caibeused

in the crop breeding programmes L/
Tapetum helps in the dehiscence of anther,
Exine of pollen grains is made up of

s
sporopollenin "

(4)  Pollen grains of many species cause severe
allexgies

11. Which one of the following statements is wrong ?
(1)  Phycomycetes are also called algal fungi.
2) Cyanobac‘lfyare also called blue-green

algae.
(3) Golden algae are also called desmids M

é_)// Eubacteria are also called false bacteria.
— -

Paper - 1st May

3 Y
6. S UM H U URT THY ¥a6T H B aretl e |
T=A1 €, THFI Tl ITA P 26 354 B, T T
\ A9 9T WehTYl HYAN ] 3% g1 | guitdr ¥ iR 35t
ITET F A TG B W TH URY &
)9 # A forw o ==t vy d @i ?
(1) feafrpre

Q}/ ( :
Q‘)\ 5
(4) MX (4) CAM
Emerson’s enhal ent effect ank Red drop have 7. T it g S we @ (tz zm) fea=

WEH TEIATRE?

(1) EETSfea wERREA

(2) WETEEEHIETH 3 sawE seaz wfem
(@) N wEW T FUF WL FE FE

(4)  WEEERIET 3 G setazr st

8  FH-9 FaF a9l frufq 4 wd-w@ da s g2

e frafa
(1) =R IYHA FTEI SR
(2) fo=awi it fufw
@) uftEed Faw el
(4) ufEdt 39wen afgEwm

9,  wifwfe Aied & T Fd ge fwH wufe F
3fg S T TR T4 w2 A S HS B
fr=fafes geteo & gofa T & -
dN/dt = IN(1-N/K)

(1) & FeT 1 3T0ET gogel #fe 21

(2) & N/KSFTFEI

9 N Afarg & i s & e 8y

(4) TEN/KYEFTE D

10. FefAfErddFR T FA ITT @ e ?

afaa i ® yoeifE| wors, s ge e
Aot v D o g ©

(2) TWIEM F TFeA § TUieH Wagd ST ¢
(3) TRV 1 AT SR 1w we &
P (@) wga G wfad F W i gegst e
HAE

1. frefafea 8 8§ 7 @ F97 Tow 22
(1) wEREEfEES F fafad FaF ot F@ o
(4
() wEAEEE F Fe-wiE dee o wed €
@) @ daw F 2fere i wed #)
(4) AT (FAETE) F1 S S o Fwe

S E
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The Avena curvature is used for bicassay of : N 12. TElraEd fFEE @ﬁ THTY
(1)  Ethylene '\)\J (1) U
(2) ABA : (2) ABA
(B) GAy
e X
o 13. ﬁ'ﬂfﬁf@a#«rﬂaﬁ A
13. Wh:ch of the following structures l@o]ogus to
the fa bird ? — ("l)
Flipper of Whale . (ﬁﬁ i ving
(2)  Dorsal fin of a Shark ~ ,ﬂ_}_,\‘_ IEY T TE
(3) WingofaMoth" Y {4} T &1 99 U
) Hind limb of Rabbit * .0\3{“ - e e
Blood pressure in the pulmonary artery is: : (1) wEem % i fo #m & 3w B &1
(1) less than that in the venae cavae. ., (2) @ @ forn wereEl & Sfie & €1
(2)  same as that in the aorta. WCJ @) %l e % siiee foaen 2 & e Ll
v |
3) that in the carotid’
ore than that in the pulmonary vein. @ m%ﬁm%tﬁmmﬂm%m
“‘Q_-_____\ |
15.7 Fertilization in humans is practically feasible only | 15, gmaf o fi=s whra smEefiEd: ot @va anit
if :
g :
(1)  thespermsare transported into cervix within e & s 23 A g i
; ) YFRHT 1 T
48 hrs of release of ovum in uterus. '
(2)  the sperms are transported into vagina just E‘F e %“‘*ﬁﬂ{ 'tﬁ?ﬁ ?[;;
r the release of ovum in fallopian tube. (@ YRS ﬁ‘ﬁ & Tt T T
\-M: ovum and sperms are transported I_E ?‘Q‘ﬁﬂ’iﬂ%ﬁﬁﬁ?ﬂﬂ?mﬁl
simultaneously to ampullary - isthmic @) siEm s gErps et Herd Tol %
junction of the fallopian tube. ~~ mhmwwwﬁﬁwq{ﬂ|
the ovum am;l sperms a:l-;.- transpc;‘rted @) mmwﬁﬂmﬁm F ugert
simultaneously to ampullary - isthmic Fefe |
junction of the cervix. 5Q T W R
16. gt faume o S fafrea fem smsn 9 sy
In meiosis crossw’) b e
. F G fewE
achytene s { (@ TETE
A Leptotene , )~ @) T
{4) Zygotene (4 FHuE
’ 17.  Chrysophytes, Euglenoids, Dinoflagellates and | 17.  STEHI%E2, JellAlse, STeATerserz $iR sy Wt
Slime moulds are included in the kingdom : forg <fter 5 § mfmfem €2
(1)  Animalia (1) g
‘ (2) Monera () HE
Protista (3) wfewn
(4)  Fungi 4) FTF
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18. Lash_o_f relaxation between successive stimuli in

sustalnud m u-;dc mntract:on is known as :
( |) Tonus
Spasm
Fatigue

(4) Tetanus

(6) Idenhfy the rrect sl
(1)

Is pmduced by nurse u:Is in lestes and
inRibits the secretion of LH.

Inhibits the s ton of LH, FSH and
Prolactin. S

Is produced by granulose cells in ovary.and
inhibits the secretion of FSH.

]
@)

)

Is produced by granulose cells in ovary and
inhibits the secretion of L H.

20. Name the chronic respiratory disorder caused

mainly by cigarette smoking -
(1)  Respiratory alkalosis

\S%mphysema

B s i\

(4)  Respiratory acidosis

@ Which of the following most apprapriately describes
haemophilia ? Q}.\
(1)  Dominant gene disorder A

(2) Ve gene disorder

3 - linked recessive gene disorde\/
(4)  Chromosomal disorder ,

Select the correct statement :
D

(1)  The leavs ms are not well
adapted to extremes of climate

— e

Gymnosperms are both homosgporous an
heterosporous ¢

‘s'uivuna. L-m!\;)u and \ Pinus) all are

\%a is one wr tallest trees L=""_

Which of the following is rggulred as inducer ( 5! for
the expression of Lac operon ?

(1) lactose and galactose Na
(2)
(3) palactose

@

glucose

18, 3vIe 3Er9A o A fadifa =1 w9 F 5 26 aet
Ariemier Juit Tehw et @ ¢
(1 @
2 U (W)
(3) uFH
4 fezm
19. ‘FafeR' % an A wé #ud vemt
(1) =% 9 F 9Eh (=) Ffewsi g s
T # i L H-wa F gefad w5 7
(2)  LH, FSH iR Wit wam &1 wefa & & |
(3) I% EWMA ¥ FOEE v gm oaw
e & 311 FSH Fam 1 Hafia w7 6
(4) IE HEWE F FOHE FHIE 20 TG
T 31 LH -5 w1 wafe w2
20. F & FEO WU I B a6l SrEEe!

vag-fasr &1 9w ==y .
(1) ITHT GHEA

@) 2
(3)

A

PELERS S TE LG

Y | F9-T1 it 1 way st
I A0 FEGT FHA#?
(1)  WuTE S = faEn
(2) smWmE sits %1 fasn
() X -TEer A9vrE S F faEn
@ TR faER
(1)  SFgEra TR Ui S # wa F
feru srqgfera 7 ardt &
@ m@ﬁggﬁmwnhhmﬁmﬁﬁﬁ
@Y\ =il &0 sn wgag, 3 aq g
g
() frwEmeTd aE e g8 e §

23. A% waos 41 afveafa ¥ fom et § 5 2
U U F w9 % 51 % fon smavge 2o ?
(1) S R e
(2) T
@) faEm
4y =

Wdﬂw
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24, A ta]l true bneedmg garden plantis cruesed with | 24 Ue orEl 95%Y YN @M W21 WY &I U 9 d5%

F1 p]ant'; were s
intheratioof . —

1M _-3:1: D_m:f Tall X
29 Ta(]])moz:ygous.'[‘all heterozygous

: Dwarf

3 Az Ta]lhetemzygous Tall homozygous
: Dwarf

(4)  3:1::Tall: Dwarf

25, Which part of the tobacco plant is infected by
Meloidogyne incognita? ~

Root
(2) Flower
(3)  Leaf
(4)  Stem

26. Whichof the followmg is not a characteristic feature

during mitosis jn somatic cells 7
Synapsis *

()  Spindle fibres.

(3)  Disappearance of nucleolus

Chromosome movement

e following statements \s not true/for
: £ ?@

Mutations inhibit production of telomerase.*

26.

27.

/ (2)  Mutations in proto-oncogenes accelerate the
cell cycle. |~
(3) Mutations destroy telomerase inhibitor._"]
(4) Mutations wﬁ cell control. v
28, the major com ost | 28.
é:qt{emicel]ulose
\/ﬁ{' Chitin .
(3) Peptidoglycan
(4)  Cellulose
29. Cotyledon of maize grain is called : 29,
\/(‘f?/ scutellum
(2)  plumule
(3)  coleorhiza
(4)  coleoptile

WA FEE HeT WIRY # HHiE wE ) w4
e’ &1 TOIE T @ S Wy = T

g sua H e ?
(1) 3:1FH-F=E
(2)  1:2:1: = GHYIHS @ faumngres | A

(3) 1:2:1: ot faqagrost o grgrest . & 0
(4) 31T EA

qETE F WY FFE T AW e sl
B Hen o Emn E ?

n ==

(2

@3

(4) @7

wifgE Fifemme § gmgeEm ¥ 2hm faafafes 7 9
FHIA-HT S0 T 9T S ?

(1 HFH

@ wEEdg

(3) iz = faee

(4) T

Iefiada & way H Fa Fiferet & o frefefaa

FA BT T TG E 7

(1)  IftEda FAHS F IR ) HRE F 2
£

) WEHHETETHE | IrfEd By = il @t
Egondl

(@) A S GeH e F g F

(4)  Seafrad= Hitewen- e @ fafera = 3 #)

sfusat Fwast ¥ sfve fufs & wF yqa s@mE
FAEE?

(1) e

(2 wFEfE

(3) UerEnemEE

4 HegE

TR % T & SoT9d ol 7 HE AR 7
(1 THeem

() WEH

(3 TEE-E

@ W
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30.  Which of the follewin
organisms on bare rocks ?

()  Ggenalgae

uld appear as the pioneer

o

Lichens
(3)  Liverworts QJ\{
(4) Mosses

Changes in GnRH pulse frequency in females is

@ controlled by circulating Tevels of
( ]) gesterone and inhibin 4)’4
estrogen and progesterone
(3)  estrogenand inhibin

progesterone only

Antivenom injectidh contains preformed antibodies
i ps that are administered into the body

Attenuated pathogens 7
Activated pathogens %
(3)  Harvested antibodiesX
(4)  Gamma globulin ¥

33.  Photosensitive compound in_human eye is made
_Upot:

(1)  Transducin and Retinene
(2)  Guanosine and Retinol
(3)  Opsin and Retinal

Opsi inol .
\Jj)/ sin and Reting (’S\
e guard

34. S;@gialisedppidermalce[l,v‘surmundjng
cells are ¢

(1) Lenticels
Mlplememary cells
) Subsidiary cells '3\

(4)  Bulliform cells X -

35.  Which of the following features g not Eresent ;2}\
Phylum - Arthropoda ?

(1)  Jointed appendages
(2)  Chitinous exoskeleton
(3)  Metameric segmentation —

ia au *d/{{

@ Redugfion in pH of blood will : /
1 release bicarbonate ions by the liver

(2)  reduce the rate of heart beat.
(3)  reduce the blood supply to the brain. ?“

(4)  decrease the affinity of hemoglobin with
oxygen.

Question Paper - 1st May

31.

32.

33.

CODE

Y

qawmmwmrﬁﬁa%mﬁﬁnﬁﬁaa
HH F aam 2

(1 Eﬁﬂ e Q/0/
2
® VA

(4)
mmﬁﬁcnknwmmmﬁdwm
wfteET i R A & 2

(1) e i Sfefas
(2) A AN RS
@) ¥ o Sl
(4)  Fae g

wiasnfaw Fi § gdfafia vfawef 9 & safs ofea
1 421 F, o 7 g feemn s &, €9 ¥
(1) &= feu T e

(2) Afwfaa drers

@) = ufet

(4) T T

e 43 H yeerEAd i a g f

(1) FieEgfes @ df=ma

(2) TEFEITET 3 e |

(@) A s few g

(4) ohfe S ifeta g

BR FIWIEl 1 5 Al fafordiga
ity 1 F Fa w8 7

(1) aE
@ FF XK\NOZ
() e i -
@) e mEETaET

Frafafas wem § & SH-91 @em ey - s
o & 9 e ?

(1) s Igm

(@)  wEfeEt AT

(3) fodEE @ivem

(4) TETR

R ¥ pH & ¥F arell F41 ¥ &

(1)  F%d gW aEHTEe & e 8 &
(2) ®ET-TYEA H T FH T

(3) wfErss w1 T Sy %9 8 s

(4) SIS % G ERretan F ae g2 S )
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37.

\y% endoskeleton

38.

&

41.

AIPMT 2016

ozi l ' “"@}a

Which of the following characteristic features
always holds true for the corresponding group
of animals ?

3 - chambered heart with
one incompletely divided
ventricle

(aftilaginous

(1

—

Reptilia >0

Chondrichthg -

(3)
)

Viviparous YA —tMammalia

Possess a mouth with an
upper and a lower jaw

Chordata

Match the terms in Column I with their description
in Column I and choose the correct option :

Column [
(a) Dominance (i)

Column 1

Many genes govern a
single character

(b) Codominance (i) In a heterozygous

-‘-/f}organi_sm only one allele
'\ 7 expresses itself
(c) Pleiotropy, % (iii) In

( a heterozygous
\ gganism both alleles
press themselves fully

3,

(d) Polygenic A single gene influences
inheritance many characters
Code:
@ ® © @ _ C
M ™ G 6 6 ' ‘]4
@ @ O @ G
@ i) v 0
4) @v) () (1) i

and three fatty acid molecules
molecules and one fatty acid

roximal end of the filament of stamen is attached
Thalamus or petal
(2)  Anther
(3) Connective
(4) Placenta

Which one of the following statements is wrong?

Glycine is a sulphur containing amino acid. )

(2)  Sucrose is a disaccharide. L
(3)  Cellulose is a polysaccharide v
(4)  Uracilis a pyrimid ing/

37.

- .

&b

39.

11.

Question Paper - 1st May

B '2_6 | Lz ”;'.-f\ﬂ.
W& ¢ | e=ma
frafafas #§ & Hm-4 fafore asor ghem & sigsi &
FpEdt &t | e e # 2
= = aren gea o s
S g U e g
Iuiftee a3
Heftag s
A 3R frael s Jen qa
1 T S
i [ &1 vieai 1 e 119 fou T 39F v 3
g Fifau a1 w6 fawe g

oLl
(a) weTifaar

rifern

ELECRIE]
Tafern

(1

2)
(3)

(4) Hea

Eaiil
(i) #F S U RO H
frrsm e €1
(i) Taagrast sfia d Faa 1w
i Weitel T4 &1 stfvsr
FAE
() =gwwfam (i) farorrmsh S # S &
\, Uele @9 F1 1 wWE
\/\N\% afirerER w1 E
(ﬁ% v) Tshel S S S B
Wi H R
e
(a)

n W)
) (i)
(@) @) () (v) ()

@ (v) @ G) (i)

T WTET =8 = 23] e o # 2

(1) O TeEE SR i S e e &
() 1 TETETE S 3R U 9 s 3 F
@) U eI 3 o | A e e
(4) U T ST U TE S A

T 7 W e fan @ g dm 37
(1) g

(2) I

(3) HAEH

(9 HEEEE
frefefiag 8§ & HiH-0 H97 Ted 87

(1) T U weREa S o B
(2) HHEHUF SEEFES B

@) HegE T UieRREe ¥

@)  Fifoe v faffedm &1

(b) HEgwifaa

(®)
()
0

(c)
(i)
(v)

(@
(i)
(i)
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42. Water vapour comes omh? plantleaf through

the stbmatal opening. Through the same stomatal
opening carbon dioxide diffuses into the plant
during photosynthesis. Reason out the above
stahements using one of following options :

(1) One process occurs during day time, and the
otheratnight.

Both  processes
imultaneously.

(3" Both processes can happen together because
the diffusion coefficient of water and CO, is

cannot  happen

different.
(4) The above processes happen only during
night time. )
43. Aco i he

asingle strand

of RNA is known as :
(1) * Okazaki fragment "

olysome
(3) v Polymer »
(4)  Polypeptide ®

44.  Whichone of the follog‘ is a characteristic feag Ee
of crogland ecosystem ?
(1)  Ecological successio
(2)  Absence of soil organisms «
Least genetic diversity "
(49)  Absenceof weeds R

45.  Which of the following is the most important cause
of animals and plants being driven to extinction ?

(1) Co-extinctions
(2)  Over -exploitation %ﬁﬂm

(3)  Alien species invasion
abitat loss and fragmentation

46. Ina chloroplast the highest number of pr
f(zund_m___.
(1)  Antennae complex

@) ma
Lumen of thylakoids

(4)  Inter membrane space

47.  Whichof the foll forany of the
techniques of DNA fingerprinting available at

present ?
(1) DNA-DNA hybridization
(2) olymerase chain reaction

(3 Zinc finger analysis

(4)  Restriction enzymes

AD Yrowoedm, —— O
hwprwmn —3 v

42.

47.
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#?
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() HR S i sEafy
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(4) TG T AAArEAfa
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48. The primitive prokaryotes responsible for the | 48, 7 @few R Ao, o et Siqei & e £
production of biogas from the dung of ruminant ariE-STE § fer eer o €, faed siata
animals, include the : A E? !
(1)  Fubacteria @ ) .
(2) Halophiles @ firdll 3%
(3) Thermoacidophiles @) - Tt
\'/("’/;dmmgem @) TSR
45, Which of the following features is(not presentlin | 49. et & & Fia-w wwm RcHr ST
Periplaneta americana 2. QLB OO T w2
()  Metamerically segmented body *~ ) fagew: wied 2w
(2)  Schizocoelom as body cavity W (2) ZEE o E o ot
(3) Indeterminate and radial cleavage during @) yyuita aftad % 2 Ffauifa oiv o fager
ghibgjcakt Sminpomst: = @) N - wafzeeEEEE & ffi s
\,(4‘)/' Exoskeleton composed of o
N-acetylglucosamine 50. TR EHTEA i AT H GAX AH F fomu wEe &
' eiter i (SFE) W ST & W aEe
50. A system of rotating crops with legume or grass T W W el S e ?
pasture to improve soil structure and fertility is
called : (1) E et i
Shifting agriculture @ @ &
. (3) EHreAvEE b
() Leyfarming b e &l
(3)  Contour farming @ :
(4)  Strip farming s1. A9 @ R afed § Tem faed w wE &
e
51.  Which of the following is fvrongly’ matched in the e FTE ST
iven table ?
given taoe ()| gericifeam [emist He & waE i wer
_Microbe Product Application
\ Clostridium  |Lipase removal of oil stains Z : -
butylicum @) |zl |raeet - A s e sy
(2) | Trichoderma  |Cyclosporin A immunosuppressive it
polysporum drug G) | gr=w w=fém - Rl w1
(3) |Monascus Statins lowering of blood
purpureus cholesterol 7 Fl S
(4) [Streptococeus  |Streptokinase removal of clot from @) | gemmg  |Sem i arfivan 1 v
blood vessel ] BN
52, In mammals, which blood vessel would normally | o»  renfdi H, S wfr-aeE AR AR SE
carry largestamount of urea? ’ . ‘:R?ﬁ 27 '
9 epuic st g A
(2) RenalVein @ m-ﬁm
(3) Dorsal Aorta @ TS R
(4) Hepatic Vein @ TFa - fm
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Haemophilia is a sex] inke essi ;
Down’s syndrome is due to aneuploidyw

Phenylketonuria is an %ﬂ

ge L s N

(d) Sicklecell anaemiais an X - linked recessive’)
ecdisonder. DX T

( (a), (b) and (c) are correct.

(2) (a)and (d) are correct. v

54.

®)  (b)and(d)arecorrect. ¥ \)/
R T ——_— ‘L/ 7‘\

Which of the following guards the 1

hepatopar ic ductinto the duodenum ?
ﬁ of Oddi -

55.

56.

57.

(2)  Semilunarvalve 7
(3)  lleocaecal valve o
(4)  Pyloric sphincter )/

Microtubules are the consti tuents of :
(1)  Centrosome, Nucleosome and Centrioles
(2)  Cilia, Flagella and Peroxisome?
Spindle fibres, Centrioles and Cilia,
(4)  Centrioles, Spindle fibres and Chromatin’X

The coconut water from tender coconut represents :
Freenuclear endosperm \__—

(2)  Endocarp

(3)  Fleshy mesocarp

(4)  Freenuclear proembryo

Fricarpellary, syncarpous gynoecium is found in
flowers of :

(1) Poaceae

L/ﬂ)'/ Liliaceae

58.

(3) Solanaceae
(4)  Fabaceae

Which of the following i - modification ?
(1)  Flattened structures of Opuntia
Pitcher of Nepenthes.
(3)  Thorns of citrus
(4)  Tendrils of cucumber

1

2

R

53.

57.
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R T
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@ ()W (d)FEE

@ (b)3r@ TEE

@ (). () R (d) T E

Fretferfiam & & F- 0 e AT F e

Tevit § e Al 1w S@e wiE § 2
(1) 3eE Fi s

() FHEEER FHe

@ FEEFmE

(@) eI e
GesAeRTd Toe Bl #

(1) TREwE, iy s aEE &
(2) T, T i Qe

(@) T, aREH Sl gend &
(4) TREHEI, THEUT i 37 e

F=d AifEa ¥, s ot #=n &2
(1) A FEFl Yoy

(2 Fwatafa

(3) T<ER BEEEfaE

(4) T Fh ooy

P!, gFawedt s frms qm d dar i

(1) e

@ fofet

() HeEE

(4) e

Frerfefaa 8 & #9 vw 73 1 s = 2
(1) el Ut Yo

() ATETe FEE

@ fzmFwe

(4) i v
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The taq polymerase enzyme is obtained from :
(1)  Pseudomonas putida
Thermus aquaticus
(3)  Thiobacillus ferroxidans
(4)  Bacillus subtilis

Stems modified into flat green organs performing
the functions of leaves are known as :

(1) Scales

() Cladodes

(3) Phyllodes
Phylloclades

In higher vertebrates, the immune system can

12

distinguish self-cells and non-self. If this property
is Tost due to genetic abnormality and it attacks
self-cells, then it leads to

(1)  Active immunity
(2)  Allergic response

(3)  Graftrejection

\/4/ Auto-immune disease

62.

63.

Nomenclature is governed by certain universal rules.
Which one of the following is contrary to the rules of

nomenclature ?
iR

(1)  When written by hand, the names are to be
underlined , _—

Biological names can be written in any

language %

(3)  Thefirst word in a biological name represents
the genus name, and the second is a specific
\_/

epithet
fid nchadh S

(4)  The names are written in Latin and are
italicised w—"
i B

In bryophytes and pteridophytes, transport of male
gametes requires : ;

Water
(2) Wind
(3) Insects
(4)  Birds

59.

61.

63.
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= Fm?
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frami & faeg 82

(1) W e ey | foaaa € @ 3 it
g
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64. In CQJM;EE%&S, which of the following
statement is/incorrect 7'} i 6
e
(1) It_can_@f_o{jetecﬁon of Cleft palate.

(2) is usually done when a woman is between
14 - 16 weeks pregnant.

3)
4)

It is used for prenatal sex determination,_~

It can be used for detection of Down
syndrome. "

65.  Inthe stomach, gastric acid is secreted by the :

O

(2) | gastrin secreting cells

\/ parietal cells
‘ M peptic cells

66.

acidic cells

Spindle fibres attach on to :
(1)  Kinetosome of the chromosome

(2)  Telomere of the chromosome

\/E!fl Kinetochore of the chromosome
3 e i I CIOmMOSOTH

(4)  Centromere of the chromosome

67.  Which is the National Aquatic Animal of India ?

(1)  Sea-horse
L/L})/C’;:ngetic shark
(3)  River dolphin
(4)  Blue whale
68.  Which one of the fgllowin 1l organelles is
enclosed by a single membrane ?
(1)  Nuclei 5( -
(2)  Mitochondria ¥
(3)  Chloroplasts »
Lysosomes
69.  The two pol tides of human insulin are linked

togeth :

Disulphide bridges
(2)  Hydrogen bonds
(3)  Phosphodiester bond
(4)  Covalent bond

.
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70.

71.

73.

74.  Which one of the following characteristics is not

75.

ators in some plant'species, _4__.
Pollen grains of many species can§
on the stigma of a flower, but only one pollen

M‘hm RNA is of high molecular weight
et o e boina i il

(3)  They are smaller than viruses (_—
(4)  They cause infections »~
res are a resul result of :
Stablhzmg selectlorl
{2} Divergent evolution
~ Convergentevolution
(4)  Shared aricestry

AIPMT 2016
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In which of the following, all three are
macronutrients ?
( itrogen, nickel, phosphorus

2)
@)
@

Boron, zine, manganese 79
Iron, copper, molybdenum
Molybdenum, magnesium, manganese

Which of the following statements is wrong for

viroids ?
——-—"’_P

(2)  They lack a protein coak

Select the incorrect statement :
p———————

(1) LH triggers secretion of androgens from the
Leydig cells,
(2)  FSHstimulates the sertoli cells which help in

spermiogenesis. |_~
(3) — LH triggers ovulation in ovary. 94/

and FSH decrease gradually during the
follicular phase. VA (AL @

shared by birds and mammals ?
(1) Warm blooded nature «—
(2)  Ossified endoskeleton L—"
(3) .Breathing using lungs +
(4)—Viviparity

Which of the following statements is not correct ?
- ———— )

(1)

Some reptiles have also been reported as

tube of the same species grows mm_{hﬂ.s.t;de

Insects that consume pollen or nectar without
bringing about pollination are ca]led'\
pollen/nectar robbers,

Pollen germination and pollen tube growth

are regulated by chemical ccum.ponenﬁ.
pollen interacting with those of the pistil.

6]

@

70.

71.

72,

73

74.

75.

viol

h-f/

)~ @
q /<4>
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76.  Seed formation without fertilization in flowering

plants involves the processof: =

(1) pomixis
(2)  Sporulation
(3) Budding

(4)  Somatic hybridization

77.  Which of the following approaches d@
the defined action of contraceptive ?

ot

"asecmmy

\/ (2) |Barrier methods

Al
prevents spermatogenesis
prevent fertilization —
increase phagocytosis of

6 Intra uterine sperms, suppress sperm
M devices motility and Eerti.lizingh/,
capacity of sperms
Hormonal P're_vgnt{relahrd Sy O‘i
(4) ; sperms, prevent ovulation
contraceptives : .
and fertilization , -~

78.  The amino acid Tryptophan is the precursor for the
synthesis of :

(1)  Cortisol and Cortisone
Melatonin and Serotonin
(3)  Thyroxmne and Triiodothyronine

(4)  Estrogenand Progesterone

79. A river with an inflow of domestic rich in

organic wi y resultin:
)} Death of fish due to lack of oxygen. '?'\"'-‘

R
(2)  Drying of the river very soon due to algal
bloom. E I

(3) Increased population of aquatic food web
organi;FT‘_‘— —t

(4) An increased production of fish due to

s

biodegradable nutrients. )a

76.
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80.  Gause's principle of competitive exclusion states
that
(1)  Larger organisms exclude smaller ones
through cnmperil:ima

(2)  More abundant species will exclude the less
abundant species through competition. »

(3)  Competition for the same resources excludes
species having different food preferences.

No two species can occupy the same niche
indefinitely for the same limiting resources.

81.  Asthma may beattributed to:
(1) accumulation of fluid in the lungs 0
(2)  bacterial infection of the lungs 0

\)}/allergk reaction of the mast cells in the lungs

(4)  inflammation of the trachea

e standard petal of a papilionaceous corolla is
also called

(1) Corona
(2) Carina
(3) Pappus

(4)  Vexillum

83. Mhjch of the following is a restriction
m uclease ?

(1) RNase R
u»z)/ Hind I

(3)  Protease

@) DNasel

It is much easier for a small animal to run uphill
than for a large animal, because :

(1)  Theefficiency of muscles in large animals is
less than in the small animals.
&% easier to carry a small body weight.
(3)  Smaller animals have a higher metabolic rate.

(4)  Small animals have a lower O, requirement.
rd

80.

81.

82.

83.
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Following are the two statements regarding the
origin of life :

a)  Theearliest organisms that appeared on the

earth were non-green and presumably
anaerobes.

The first aututrophic organisms were the
chemoautotrophs that never released oxygen.

Of the above statements which one of the following
options is correct ?

(1)  Both(a)and (b) are false.

(2)  (a)iscorrect but (b) is false.

(3)  (b)iseorrect but (a) is false.

(4 th (a) and (b) are correct.

(b)

A cell at telophase stage is observed by a student in
a plant bmughtf[om the field. He tells his teacher
that this cell is not like other cells at telophase stage.
There is no formation of cell plate and thus the cell
is containing more number of chromosomes as
compared to other dividing cells. This would result
in:
(1)
@)

Polyteny

Aneuploidy
Polyploidy
Somaclonal variation

@
Depletion of which gas in the atmosphere can lead

to an increased incid ers :
(1)  Methane
(2)  Nitrous oxide
Ozone
(4) Ammonia

Joint Forest Management Concept was introduced

in India during :
(1)  1990s
(2 1960s
(3) 1970s
J}ﬁesos
Which one of the following is the starter codon 7.
(1) _ UAG
AUG
() UGA
(1) UAA
The term ecosystem was coinedby :
(1) E Warming~
(2) EP.Odum

AG. Tanslc;\
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91.  Whatis the minimum velocity with which a body of

N -
/ 18R

92.

B

®

At what height from the surface of earth the
gravitation potential and the value of g are
~54%107] kg ~2and 6.0 ms ~ 2 respectively ? Take
the radius of earth as 6400 km :
(1) 2000 km
__'________-3

(2) 2600 km L\/ a’
(3) 1600 kmB
(4) 1400 km

~ rb %DD
A long solenoid has 1000 turns, When a current of
4A flows through it, the magnetic flux linked with
each turn of the solenoid is 4x10~3 Wh. The
self-in ce of the solenoid is; ¥ Ao t A

1H 4
(2 4H - "! b ?
=

@) 3H
4 2H

mass m must enter a vertical loop of radius R so that
it can complete the loop ?

M  J5R
@ R

@ 3R

If the magnitude of sum of two vectors

magnitude of diffe of the two vectors, the angle
mwmﬂi

LG

Aninductor 20 mH, a capacitor 50 pF and a resistor
40 () are connected in series across a source of emf
V=10sin340t. The power loss in A.C. circuitis :

(1 089w
2 051w
@) 067w

8

92.

93.

@ 076W

ALl
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R B & faedt snafm ot (S9) & m gommm &
Tt favz =1 favm feram 9 9 waw & aifee fF
HE W ! YU T T 7

Mm  5R
@ JgR

() V2R
@ 3R

afz < wfevii % = =1 afmm 3 3 |few & s
AT F Fa €, d 5 gfewi A w e

1  180°
@ o
3 9
) 45°

et % Y B et S v e fave oi e
R g % WH FA: 5.4 %107 kg ~2 36,0 ms 2

#3 E2 9wt i e 6400 o . wifsa

1y 2000 fe.Hr,
(2 2600 fa.
(3 1600 f&.H.
@d) 1400 .,

foreft erft wiemferen & i =1 @@ 1000 %) 59 39
ufEIferT | 4A W yafea @6 &, @9 59 wfenfer
F UAF A Hag TEE T T4 10~ 3 Wh B
%1 =8 ufiAifers @ E=-wE |

M 1H
2 4H
(3 3H
@ 2H

et i 991 emt, V=10 sin 340 t &, | 9t 4
20 mH =1 YT, 50 wF %1 GRS 791 40 O %0 il
o &1 28 werrad! o iy F wii e @
(1) 089W

@ 051W

B 067TW

@) 076W
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common point by two massless strings of lengths [,
are uubially al a distance d (d < < [) apart because of
their mutual repulsion. The charges begin to leak
from both the spheres at a constant rate. Asaresult, |
the spheres approach each other with a velocity .
Then vvaries as a function of the distance x between

the spheres, as :
{1: ViX |
’7{2

;:‘xl_!
1
vx x2

2

\'/(91/1, o X

!
@)

pxy 2

Yl
i

A capacitor of 2 uF is charged as shown in the
diagram. When the switch S is turned to position 2,
the percentage of its stored energy dissipated is :

1 80%

2 0%
20%

x}/

98.

| &

A particle moves so that its pcmhcm

by
comhnl

tor is given

ere-nil!_i_s_f_.=

r -m‘.mtx+smwi'y

Whlch of the following is true ?

1)

n'hty is perpendicular to T and
acceleration is directed away from the origin.
@

Velocity and acceleration both are
————

perpendicularto r .

—_— e .

(3)  Velocity and acceleration both are parallel

3
to r

3
Velocity is perpendicular to r and

#)

Question Paper - 1st May

. Qg AN
Two identical charged spheres suspended from a | gg, f;mw

acceleration is directed towards the origin.

e i

g 9, =% |1 1 g e S
| feifan, @ wdaw smafem M, s wfaedo &
HU, Y H - A d (d < <)) T RE FE
& TiTelt A Uk FrEa @ @ S 1 e S i g,
3N 39 AROTHEEY el UF TH F AR Ao #
a1 79 el % 9 Figi, x F Fed & w9 H

1 o 1 foa=m forg =9 4 dan 22 o
M ve=x! _
: po [x2xV
@ v=a? e
2
B) v=x ,l U ’)/"
2 >
-\

i@ 1 9T AR 2 uF oI & wafe =
Fraer fara 21 Gﬂfﬁi%ﬁhﬁwﬁzq{w
EiGIE ﬁsﬁmﬁammnﬁmm

1 U ﬂ(/ \ ld)
——(2)
@3)
@ 75% }L JU’D
VV
98. THIE FV IH VFER A w1 € R Iwe feafa wfew
T =coswt x +sinwt y BN e fem T
7 w TF Fraaiw &
fefafac i d s R T &2
(1) T Feaed A o e fag 3 @
3w frafifa &1
@ AR ERMEEE ¢ % oneEEd €
S @) ansEmEREd ;%
(@) AN ¢ % ciEEa & qu e g fag w1 e

fefdfa 21
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o, . ~
s M .:\I\.u' ~ a1
3 ‘(:\\ .\I\f\?& {'R \Q$
Y G “JQ@% > (Engheh:Findi
99, :;zzzlggmﬁng and uwssmM,acgct;‘llar h«;{: 9. THEAM 79 e R #l et fes A R = =
TR, w rim passes through the cen!
is cul. tis the moment of inertia of the remaining bk - Fom 3 Yo s < & o s ﬁﬁ'
part ofthe disc about a perpendicular axis, passing fewr % %= A 7 fomm & 9w um W, fow &
thecentre? o T 39 F W ORA A HY # ufd: see
9 MB2/32 st e &2
15 MR?/32, 0 YRR
(2) 15 MR%/32
2 3
e L (3) 13 MR%/32
@ 1MR%32 (4 11 MR%/32
1100, The ratio of escape velocity atearth (1,) to the escape | 100, guft 77 e 3 (v,) 81 36 W& T TAEA 97 (v
velocity at a planet (v_) whose radius and me ' p)
density are twice as that of earth is : N ::“ 3‘3;';‘ 331;“%’ TR T A v e el
~— T ? v
M) f/
2 _ M 1:4Z7 -
@ @ 1:2
A\ (3) 1: 242
(4 @ 1:4 ] +
! ‘
101. A potentiometer wire is 100 cm long and a constant | 101. T fasaardt % aw =i evang 100 4.4, & 991 793
potential difference is maintained across it. Two foll & dra # frod favarr T d @
cells are connected in series first to support one et 1 FoiiEw TR U TH i geEA F
another and then in opposite direction. The balance = s i
points are obtained at 50 cm and 10 cm from the ol fi - R 1 i fewmadt # wrfom foren
positive end of the wire in the two cases. The ratio T R T Ayl § y-fasm feufy ar &
ofemf’sis: T e & 50 Al 3R 10 1. g W ura g
) 3: %Iﬁﬁﬁﬂ%emfﬂﬂ?ﬁm?
5.1 m 3:2
® 54 @ &q h "
5:4 1@"‘ )
4 3:4 ({2 ik L (,A/\’
A siren emitting a sound of frequency 800 Hz moves smfa s
away from an observer towards a cliff at a speed of B KT St o A
15 ms~ 1. Then, the frequency of sound that the forelt a7 | wF T F 15 ms 1 F 7@ F
observer hears in the echo reflected from the cliff is - e &1 99 39 @& w0 oength, g weE |
(Take velocity of sound in air =330 ms 1) I “ﬁﬁﬁ%WﬁﬂFﬁ%W%Wﬂ'ﬁ?
(ag q HE =330 ms ! FfeT )
885 Hz
@ (1) 885 Hz
@ IS @ 765 Hz
(3) 800 Hz (3) 800 Hz
(4) 838Hz (4 838 Hz
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I - 1]

EnglisheHindi| 21 Y
| 103. Togetoutputlfor efollowmgclrctubﬂlecorrﬂt‘l 103. i feu wmu uftgy 4, faefq 1 wrad 33 & fau Faw
i choice tor the j . ,DQ g

Ao . i
Il - -.\B g i ﬁ—; ¥ gv _7—;
J}%’n& =0,C=1 @ A=1,B=0,C=1
@ A=0B=1,C= Ulb; @ A=0,B=1,C=0
@) B=0,C=0 @) A=1,B=0,C=0
\}m,s 1,C=0 ?’/ 4 A=1B=1,C=0

104. In a diffraction pattern due to a single slit of width
‘a’, l‘heﬁrstmjrumum:sobservedahﬂmw
when light of wavelength 5000 Ais incident on the
slit. Tﬁ?ﬁrst seconaa_._ll_maxm\um is observed atan

angle of :
0wl
o ()

)

105. When a metallic surface is illuminated with
radiation of wavelength A, the stopping potential is
V. If the same surface is illuminated with radiation
\'4
of wavelength 2, the stopping potential is e The
threshold wavelength for the metallic surface is :

1) E j/\

4

2" 4 z :
(3) 5\
@ 3

106. When an a-particle of mass ‘m’ moving with
velocity ‘0" bombards on a heavy nucleus of charge
‘Z¢', its distance of closest approach from the
nucleus de&\____cis;g_n:r;g

M m
3,
m
1
o T=
1
@ -z

104, <& Hrer ‘o’ w1 fad wwe ol w5000 A wEed

1 WH AT F4l €, o {5 F w30 faadq
Yed 1 30° & 1o W yeen fafers faas <o &1 geen
foditas sfems fog = o femd &m, 9 @ ¢

-
sin”! [Z] o

o ()

1

VA
\[so
| 10

v ferddt anfeares g =it adveed \ & fafsreoll @ wda
for o €, @ fndt favE v ®1 At s U= A
wmeEd 2\ F fafwi | wdra fen wwe, o fnd

v @ #1 5 e e 1 2wl v

1

10

105.

%
®  3A
L @ 4
® 5\ L -
@ A

5 FEHA ‘m’ A1 A7 v’ | A FE o-F0 Ze'
Faw F fardt v i W awar &3 e, & 39w
e | feread SUHE &I gl, m W 39w e

106.

FEE
M m
@ -
1
O =
1
@ -3

brglenemmmy
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o & a

107. Match the corresponding entries of column 1 with
column 2. [Where m is the magnification produced
by the mirror]

Column1 Column 2
A) m=-2 (a)  Convex mirror
1
(B) v E (b)  Concave mirror
©) m=+ i (@  Realimage
1
D m=+ 2 (d) Virtual image
(1) A—=>cand d\B— bandd; C— bandc

aandd
— band ¢;”B— b and ¢ C— b and d;
D—aandd

3 A—aandc—B—aandd; C—saandb;
D—candd,_~"

A—aandd; B— band c'f/C—b b and d;
D—bandc

)

108. A particle of mass 10 g moves along a circle of radius
6.4 cm with a constant tangential acceleration. What
is the magnitude of this acceleration if the kinetic
energy of the particle becomes equal to 8 x 10~ #] by
the end of the second revolution after the beginning

of the motion ?

(1) 02m/s? TJ/ — 6 2 Lk U
@ 01m/s2 WA - 1O (1,

(3)  015m/s?

@) 018 m/s? T

109. A small signal voltage V(t)=V, sin wt is appli
across an ideal capacitor C:

o) ntI(t) leads voltage V(t) by 180°.
Current I{t), lags voltage V(t) by 90°.
(3)  Over a full cycle the capacitor C does not

consume any energy from the voltage source 4
(4)  CurrentlI(t) is in phase with voltage V[t])\

110. A disk and a sphere of same radius but different
masses roll off on two ificlined planes of the same
altitude and length. Which one of the two objects
gets to the bottom of the plane first ?

M

\/m)si::ere

“4) Both reach at the same time

Depends on their masses

22

1) erepdong 4

Yo (Erganeri]

107. Hie|-1 i A wfafed 1 foam #iem-2 51
Wﬁml Bl ‘m’ T BT 3 eaA

#1
e -1 HITH - 2
(A) m=-2 (a) IEEEdY
1
® m=-3 (b) FFAEA THO
(© m=+2 () =matas gfafam
(D) =+ = (d) s ufafama
() A= cdd; Bobdd;, Cobdc
D—add
2 A->bdc¢ Bobdcg Cobdd;
D—add
(3) A2 adc¢ B—oadd, C—adb;
D—cdd
4 Ao add; Bobdc Co b7
D—bdc

108.

10 g ZEAH %1 1€ F0 6.4 A, @l T F g9 F
sefew ot foa oovl-Tam o | ofd s &
7fz nfa SO F3 F uvEm 9 wfee 9 s w
07 1 I ST 8 % 10 -4 ) B S #, 1 TE w5
ﬂﬁ'ﬂmﬂ%’ |

(1)
@

02 m/s?

Olm,r'sr t (__ |
0.15 m/ 42

018m/32 -
@mﬁmaaﬁamvm =V, sin ot T smEst
C & fadl W srwgaa &1 T ¥

ST I(t), Se2al V() H180° AT )

ST I(t), STeal V() 3 90° y9E B

T qUi w5k B He1fa C Seed S 3 FE S
IYYF A |

YWW@WW“'
110. =5 fo ain = e, o= foeand awe v

o fum €, wum sy o o= F 9 s
THAE T qEHa ¢ | T 2 (9vEl § A et o T

A g 2
(1) ¥ gl 9 fasl w2
@ ==
@) TEn

@ 2 o o e
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l J : e t’l<
m [ vk/l (.A‘» Q, 2 _ "
I‘ English-Hindi 23 Y
| 111, Coefficient of linear expansion of brass and steel | 111. g (F9) iR @9 #1 22 F s @ F
rods are @ and ay. Lengths of brass and steel rods Y o, 3T o, ¥ e st e # g w5
are I, ad T, tespectively. I (L,—I,) is maintained L ———— -
sameataﬂ'te%n’p:ramms, which one of the following T FA: |y 3, F ) AR (2, 1) F 7R A
relations holds good ? * o0 oM w9 99, 99 9" e o e 6 8
\ﬂa ; L
; o N ayly=asl; [ T
@ oh=aql X _ ¥l. ¥
| @  oqlh=agl 1 E \
| @ al =ef @ @B =af . (JJ’/
_.J @ oflh =3l X @ ol =adl
i
| 112. Aastronomical telescope has objective and eyepi 112. Wm{ﬁﬂ"*ﬁmﬁﬂmﬁm
| of focal lengths 40 cm and 4 cm respectively. To il wAw: 40 B 3fim4 A ¥ shageas A
; Wfﬁsﬁmmommeobjec&ve,me 200 .. X feua foelt famm =1 2w ¥ oo, oW
| lenses must be separated by a distance : i 3 A F . O
N e 1) 5408 4
= @ 738
46.0 cm (3) 46.0 .a‘tn‘
@  500cm @ 500@
113. A uniform circular djsc:i;radius S0cmatrestisfree | 113, fowmeesn # figm 50 4. B #1 7 wFmH
to turn about an axis which is perpendicular to its o fo A ¢ w
plane and passes through its centre. It is subjected Wf! ™ % K S F= q
to a torque which produces a constant angular et AE & ufta: YA & foau e ) g9 ferm w
acceleration of 2.0 rad s~ 2 Its net acceleration in 15 5el 3ol w1 FTa S 28T 2.0 rad s~ 2
ms ~2at the end of 2.0 s is approximately : Foraa Soft =00 I W A R 2.0 s F 9EH
LM 30 ‘.'_C-‘ 1 ) ms—2 T U 72 T SN I
@ 80 @ 30
' 8.0
@ 70 Ez &
@ 70
vﬁrzﬂ @ 60
N\
114. A refrigerator works between 4°C and 30°C. Itis | 114. 18 MRS 4°C 3 30°C & &1 Fr &7l € | Wefie
required to remove 600 calories of heat every second faru w1 el =9 a1 e was & 9 600 HEn
in order to keep the temperature of the refrigerated f
space constant. The power required is : Fom F Wi S AR S B
(Take1cal=4.2 Joules) ¥ fou smaves wifss =nfeu -
1) 2365W (1 cal =4.2 Joules FTST)
1) 2365W
() 2365W o AW
@ B&W @) 2365W
4 2365W 4 2365W

Lafivmms
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ek W MAf
Y /7 Englsh+Hind
115. A gas is compressed isothermally ta half its initial | 115, faet g 1 TEATdT w9 @ 9% oM AT T
volume. The same gas is compressed wparately e Fa
through an adi ic_process until its volume is Fo w1 v e ‘194?5 wq
again reduced to half. Then : RIS BT S 9 S 7 wefifen o e &
(1) Which of the case (whether compression T
through isothermal or through adiabatic (1) =0 auandTg Wi gn 5yt 1 e FZHE
process) requires more work will depend whEa g witfed &%, fa v § sfys
upon the atomicity of the gas. * A
(: Compressing the gas isothermally will require mﬁ:: :7“ o, e 1
more work to be done. ® ! .
(3) Compressing the gas through adiabatic (@) e ) wward wfmen g wdfed /0§ sif
process will require more work to be done. T A F SEIFA B
(9) Compressing the gas isothermally or 3) ﬁqmmmmmmﬁm
0& adiabatically will require the same amount w1 = v A
of work.
@) 8w i i sge T shwa e
116.  The intensity at the maximum in a Young’s double T HOE w1 F9 5] FEvaEal il
slit experiment is I, Distance between two slits is
d=5A, where A is the wavelength of light used in | 116, 4n % fagl fg fodt wim & 2feaes 51 drga I, ¥
the experiment. Whahvﬂbethewl_tl‘;'tl’?\}t ﬂ'ﬁw%ﬁﬁﬁ'{ﬁd=5k? Tl A wdm i
f f the slits on the laced at ; - :
Bori.g{é?e.gl on the screen placed at a distanc fe s ¥ ot o it 3
\\_,a,)/r 1 . 74_.? T D=10 d W fega v v diaan 32 807t 2
lo
2 f \{ﬁ i %
@ I . @ 1
1§ I
Q@y/z :>3£P ® 3
3 = Dg\
= T“
M @ S c
117. 0 non-mixing liquids of densitigs p nd | 117. TH '{H'T o fafaa = M A g 74, o 9.
J =y e e T*;elhe's e p T4 np(n > 1) ¥, forelt o & ¥ ¥1 o 7 A
is solid ¢ylinder of length L an o s
density d is put in this container, The cylinder floats S h &1 L 3R A d ¥ forlt 3o 1 5w
with'its axis vertical and length pL (p < 1) in the T TS | g8 a9 YR i 8,
denser liquid. The density d is equal to : WWWW%WWWPL{p(U
M (+@=1plp TEEA AN R A d T AR
+@+Dplo 7~ )4 l M (+@o-Dpp 1R
@) R+@m+plp L7 @  {1+(n+1)ple . -
4 2+@n-1)p) () {2+(n+1)plp =
el aiat @ eto-vpp | & vV
118. Consider I:hcfjunction diode as ideal. The value of 118, =y =rE 31 sy TEE fEn | AB @
current flowing through AB is :
e WeTTEd MR A
1k0 B
4V : 6V . ' AN :
+ —
o +4V -6V
(1) 10°-3A V = U&\ UB (1) 10-32 A p g
@ @ 0A — =
@L~10-2A - Vat \HJ) @ 10-2A ;\ ¢ © i
@ 107'A @ 107'A =

o TLQJK/()G,U' ‘

-
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A car is negotiating a mir_{ﬁmuhe
road is banked atanangle 8. The coefficient of friction
between the Lyres of the car and the road is u,. The
maximum safe velocity on this road is -

i

119.

2 ps +lant
1=, tanb

' pg + tanb
R
(3) & 1 - pg tand
\_/!/ £ Wy +oab
) R 1-p,tand

120. A long straight wire of ;’%E?__ﬁﬁg'es a steady
current I. The current is uniformly distributed over

its cross - section. The ratio of the magnetic fields

@

B and B', at radial dista

\/fmvﬁx.
1

espectively,

4
@ 5
5 4
® 5
@ 1
- _.-”
121.  Given the value b{ Rydberg constant is 107 m™=, the
wave number of thelast line of the Balmer series in
hydrogen spectrum w :
(1) 25x10° m~!
(2) 0025%10% m !

08 %107 m !
0.25%107 m !

@)

At+Bt, where

If the velocity of a particle is v=

25

n Paper - 1st May

Y

119, % =7 5= R F1 afFa g% w 7fawm 81 7
TSH BV 6T FF B FEF 2] R AIF F A
OO B T TEE WHN Al g
e

2

ol

s

O]

120. 5= o % Tl o i an @ +7% wmdt w1
waifen & W ¥ TH AR F AN FR W UW
mwﬂﬁaﬁah an F s 9 g 7

- ai\tzamm w5 B 31 B S

Lyr W brockt

o 4
1
@ 3 PMW
) ® 3 V ](
@ 1 ’

121. et fas =1 99 107 m ! femn 0 &, edsA

FEg W amy guil # sifon @A A oain dgen

L £ 3 1
1 5%107 m~ i [ (S R R it
2 0025%104 m~! ﬁ m( IA (
(3) 05x10°m~! « ] I 8
(4) 025%x107 m~! ’_ﬂ _—
1
122, 3fz fFdt =0 1 ST o=At+BE %, TeA 7 B

ﬁwmm% mmmgmlsaﬁus%aaawm

b

@ &+‘B

Z 3

. 2 Y
()} E»'\+all?.

o wen e dY e e G o

4) %A + ;B (@) “EA + EB
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123.  Theangle of incidence for a ray of light at a refracting
surface of a prism is 45°. The angle of prism is 60°.
If the ray suffers minimum deviation through the
prism, the angle of minimum deviation and refractive

index of the rial of the prism respectively, are:
1
30°;, —
\)}/‘;‘v

(i

(2)

@)
)

3
V2

30°; Ji
45°; 2

45°%;

The molecules of a given mass of a gas have r.ms.
velocity of 200 ms~! at 27°C and 1.0 x 105 Nm 2
pressure. When the temperature and pressure of

the gas are respectively, 127°C and
0.05%10°Nm =2, the r.m.s. velocity of its molecules
inms1is:
100
m 7
@ 10042
400
o 5
10042
C

/12? An air column, closed at one end and open at the
other, resonates with a tuning fork when the smallest
length of the columniis 50 cm. The next larger length
of the column resonating with the same tuning fork

126.

15 :
(1)
2
(3)
)

200 cm
66.7 cm
100 cm
150 cm

The magnetic susceptibility is negative for:

(1)
€

@

paramagnetic and ferromagnetic materials
diamagnetic material only
paramagnetic material only

ferromagnetic material only

123.

124.

125.

126.

!ErglnsmH-h'E_[

o & foreft srvade g o et wamr faron 3 fom
S99 FH AH 45° 1 e o 5 9 600 B
At 7w foraon fires & =g foafema drt &, &t geem
far=rer o aen fasw & werd @1 srvadie . § -

w3 1
(1  30% 5 . t&/\q/‘\ &

o 1 =
@ g |
@ 300 V2 k) W 2}
@ 45 2 A

Y 27°C 3T T 1.0 x 105 Nm~2 W fat fow mq
F=A F1 4 % ST & @ g g8 (rms) 3
200 ms~1 ¥ 1 519 30 19 ¥ a9 @7 7@ wu9: 1270
#1005 x10° Nm =2 €, @i ms~1 ¥ 59 a3 syopaif
197 7 ge anE

w  Owin 6‘;&
120J5 f 4 CS - ‘+€

@

(3) 5

@ 10(:1:5 y

TF 6 A= A g R wogen w1 ag
foit =t fgye & wra 59 999 s v & o=
T 91 W F FE-H-FE T 50 9, B ¥
3 @ By % 9y s F A @y @

(1) 200 #Ht.
(2) 667 HH
(@) 100 FH.
4) 150 B
T Y e HoTe we

1)  FITEwE R e gEne veE % fae
Q) Fae yfagEsg e ¥ fam

() Faa FTEEE T F

(4)  Faw de-gramr vad % fog
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- 127.  An electron of_mass m an hobo\ me | 127,

() fad+3)w
PR3 W
(22 +ath w
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energy E. The ratio of de- e wavelengths

associaled witl them is ;
1

(&)

| -

1)

[ S 1p

@ c2mE)
(c being velocity of light)

128. A body of mass 1 kg begins to move under the action

= o - RS, i T
of a time dependent force F = (2t + 3t J)N,

where | and ? are unit vectors along v and y axis.
Whal power will be developed by the fcrce at the

timwe 17
Mo
Fe 24
(28 +3th W
The ¢ ugh a resistance R varies
with time fag Q =at — bt*, where a and bare positive
constants. The total heat produced in R is :

m =2

@ % &7({ R?/

a'R

o T Aot
TR Cl)(

“ ETS

. A npn transistor s connected in common emitter

configuration ina given amplifier. A load resistance
of 800 £2 is connected in the collector circuit and the
voltage drop across it is 0.8 V. If the current
amplification factor is 0.96 and the input resistance
of the circuitis 192 (), the voltage gain and the power
gain of the amplifier will respectively be :

(1) 4,369

@ 4,384
B) 369 3.84
@ 4,4

axe Heok =

128.

L @2

129.

130.
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A ‘:_Hﬁ' v _,l;l (_:

" y

FEMA m & e[ 9 R wRE # S9n E
UHEHE ¥ | T Hag 3-gwel ainesal &1 SquE €

0 1z

o (57
1

o (&)

@ mp)’
(7T ¢ WaTy =1 37 £ 1)

1 kg g=9 F1 F1% fove fadt senfas aa
F=@7 +32 )N, 78 | o ), xolnyom &
FAfew wrE 9faw €, % 3= 9 Ao wa g, @
A + W 3 ae g fasfaa wifam = @ 2

(1) Ee+3)W

2 (2t?+3t3)w

+4t‘)W

243t W

el wfefiy R ¥ waTfed 199 %1 O9F t & Wy
fammr Q = at— bt? % &9 1§ 11 &, e 2 797 b YAEHF
Faais & RATHFATHE ¢

) “:—f I Gl -

al ' . P;- _LU
o5 g Y=
o W

ﬁﬁﬁﬁqmmﬁﬁnm;ﬁmm
Iosis fa=ma 4 "@a@fsa &1 800 Q F1 & @i
iRy Howes wfiey § H4ifaa & o e T w
0.8 Vv favEmm &1 3t ur yas® s 0.96 & a0
uftay &1 fEy wfely 192 0 2, @ == wads =+
areza @ty g vifsm wfe o & .

(1) 4,369
(2 4,381
(@) 369,384
@) 44

Latbnesanme
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131, A piece of ice falls from a height h so that it melts | 1371, W*’ﬁgmmhﬂwmﬁmtﬁﬁ

132,

%

133.

completely. Only one - quarter of the heat produced
15 absurbed by the ice and all energy of ice gets
converted into heat during its fall. The valueof his:
[Latent heat of ice is 3.4 x 10° ] /kg and g = 10N/Kg]

(1)  68km
() 34km

(3) 544km
) 136 km

A square loop ABCD carrying a current i, is placed
near and coplanar with a long straight conductor
XY carrying a current I, the net force on the loop will

IL

Y B ) e

11 AU

X,

VR

ol

-

2uoliL
3

®)

A uniform rope of length 1. and mass m, hangs
vertically from a rigid support. A block of mass m,
is attached to the free end of the rope. A transverse
pulse of wavelength A, is produced at the lower end
of the rope. The wavelength of the pulse when it
reaches the top of the rope is A,. Theratio A,/), is

my +m2

M

my

m
mp

my + msy
@ rmz

my

ny

@

()

Mo Yy

132

’#_'".‘

133,

yuia: foee s &1 30 € Al S 1 FHad
- um § 9 g it e m E an
A% & W Sl eHeh IRG H9E e H EaiE 8
St &1 afe aF F oA S 34%105 J/kg A
g=10N/kg 8, NITE h=1AH & -

(1) 68w

2 34 &
(3) 544 fEHL
(4) 136 fwm.

FI AHR I (F9) ABCD Faud ymy i vanfea @1
& ¥, fret o W9 e xy e v varfe
REWEFfawdm i@ | weay
mi‘amﬁm

Y B &

I (i IL

X it >
L/2 L

(2 2_:,,%1"

(3) %

@ 2|.|.; -:.iL

M m, A1 @ L H R uwHenE
T oF W SrAR wed €1 T8 v ¥ e o Y
FHAHA m, 1 F1E T T ¥ T F g i w
TR A, T F I o I e o ¥
AT T F v oF e W e ) e
A, T SRR 1 99 ST Ay/\, FIHA

m[+n‘|2
R
[
® \m
m; + my
ms
my
I

(3)

@)
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134. A black body is at a temperature of 5760 K. The
energy of radiation emitted by the body at
wavelenglh 250 nm is Uy, at wavelength 500 nm is
U, and that at 1000 nm is Uy, Wien's constant,
b=288x10° nmK. Which of the following is

correct ?

® Uy
@ U=0
@) Uy=0
4 U>U,

135. Outof the following options which one can be used |

to produce a prgpagating ekrggw“ﬁ;_ﬁgq 7
(i) e gy

(2)  Acharge moving at constant velocity
®
)

A stationary charge N
A chargeless particle

Which one of the following characteristics is
Jassociated with adsorption ?

(1)  AGand AS are negative but AH is positive
-~
@ AG is negative but AH and AS are positiye

o

land AS all are negative

G and AH are negative bug positive

137. The pressure of 1, required to make the potential of
H, - electrode a;gﬁ_g,@l._tm___;_wa_gr_at 298 Kis:

_——

(1) 10 1atm
\_ﬂy/ll]‘ 1 atm

(3 10 2awm

@ 10 atm

138. Theaddition of a catalyst during a chemical reaction

alters wmng quanftifies 7
Activation energy =

@
3)
)

Entropy »
Internal energy™

Enthalpy A

Question Paper - 1st May
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134, & FHomH 5760 K a9 9 ¢ 34 fove g sl
ﬁﬁ(ﬂﬁ#ﬁﬂ‘mﬁﬂanUl,m
500 nm W U, a1 @nasd 1000 nm W U, 1
-, b=288x10° nmK ¥1 == e wn

T A W R 2 B

?/ (1) >U,§im, Be ND FNt-

@ U=0 i

. "k c?mwauukeﬁrmwhcf o K‘

Mo MO To b by fd ) —
T we RoOL 3 P

Us = Oy, o

U > U.:.Q ﬁﬁm
o
1

35, ﬁﬁqwﬁmﬁﬂﬁmmwﬁaﬁa
o a1 T 3 F A S A g 7

(1) = @[ sE

(2 foga an | nfgam ¢ sEw
@) for smEw

(4)  SAEYER F

136. Frefafas @aoi § § Fi9 @ afuvian § gaEfm

rg—— HVE.

(1) AG 91 AS HUITHS AfF AH HATHS Bl § |
2
(3)
(4 G Ud AH BT A AS ST ear 8|
b Tt A 00,

137. 298K WG 9e | H, - Toagrs &l fava vy #0
¥ ford snavas H,T@ B

AG e Tl AH T AS ST €14 & |
AG, AH U AS Tl 0o B & |

(1) 10 *atm

(2) 107" amm
(3 10-2atm
4 109 atm

138, Tt vmafaes sifuferan & 38 & 9m 4 frafafaa

# A A = A aEer € 2
1y =i e

@ U

@) s s

@) Uhed

B e

e
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(?:9.\ For the following reactions :

(a) CI{3CH;,CHzBr +KOH —
CH{CH = CH, + KBr+ H,0 0 d
HyC CHi, HyC_ CH,

(b) : + KOH —» + KBr

Br OH
£y Br
(c) U + Bry —
Br

Which of the following statements is c_pfrg\q T

(1)  (a) is substitution, (b) and (c) are addition
reactions. e
(2)  (a)and (b) are elimination reactions and (c)is

Mdition reaction.
e (a) s elimination, (b) is substitution and (c) is

addition reaction.

() (a)iselimination, (b) and (c) are substitu o

reactions.
140.
140.  The product formed by the reaction of an aldehyde
with a primary amine is ;
(1)  Aromaticacid ! [
: CHO + oy NF

2) base Cﬂ 3 H O’H 3 L]

tone

(4)  Carboxylic acid CH g A

3 141.
141.) The correct statement regardin of
arylamines is :

(1) Arylamines are generally more basic than d
alkylamines, because the nitrogen atom in
arylamines is sp-hybridized.

(2)  Arylamines are generally less basic than
alkylamines because the nitrogen lone-pair
electrons are delocalized by interaction with
the aromatic ring  electron system,

(3)  Arylamines are generally more basic than
alkylamines because the nitrogen lone-pair
electrons are not delocalized by interaction
with the aromatic ring 7 electron system.

(4)  Arylamines are generally more basic than

alkylamines because of aryl group.

142, Equal moles of hydrogen and oxygen gases are
placed in a container with a pin-hole through which
both can escape. What fraction of the oxygen escapes

in the ime required for one-half of the hydrogen to

L’-""C; 1/2}’/ ML(’ﬁ '2_

. e ys
@6’#:/1/4 b.)_ "’“"%
3/8

4

il

Lol
5
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142,

CODE
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139. 7 wifuizwansi & fad -
{a) CH .L"Hzi'_H'_.Br+ KOH —
CHyCH = CH, + KBr + H,O
HaC .{'H'\ H4f ’ CH,4
(b + KOH b - KBr
Br OH
5 .~ Br
(c) | + Bry— | |
- - Br

e oaER mwmEg )

(1) (a) Wi, (b) 37 (o) Ams sfufeand &

(2) (a) 3 (b) fEEim wfufEad € ag (o 9
sl &1

(3) (a) FaETE sfuf, (b) s afafen o
(c) T sifufmar 2
1) (a) e s, () s (o) sfarae

g
tfeerms vd wufas i 1 afufira 3 a9 3@

(1) T s

() forgam

(3) fEdE

(@)  FEifaatEs e

T 3 enveRdl & fe) |t e & .

(1) T A el § s ane
& Fif wenT g LI HEHT] spifm
K1

T AT e § W e
wWinfed 56 & ¢ - FeiegE & g fawnfre
e E

THETHET THga: Tfeseady A = e
T2 T

wfte ¥qE & FHwm tfendE amreaa
TfrFEeHE & w2E ari #

FIZSISF U ST T F T e ) u as g
T T R, S o e fer ¥ gm verm wmam
T EEEEE F o vere § an ey § staie
e =391 wemam = ?

2)

(3)

(4)

(1) 1/2
2y /8
&) 1/4
(4 /8
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'143. The correct statement regarding the comparisonof | 143, viR % Hiafg TE T HEQW & ge & foa wh
\_ staggered and eclipsed conformations of ethane, is : T
(1) Thestaggered conformation of ethane is more ¢ : ;
stable than eclipsed conformation, because (1) T H wiE e, e W 4 s
staggered conformation has no torsional T ¥ wiifs wiafa g § @i fagd
strain. ' &
(2)  Thestaggered Fm_lfonnab’on of ?ﬂlane is less @) O Eiaf SET, v e § w5 T
stable than eclipsed conformation, because 2 4 i 4 X
staggered conformation has torsional strain. & e wiafea wewor § 7 fagd 71
(3)  Theéclipsed conformation of ethane is more (@) WA W wE weyw, Hiafa dEe G s
stable than staggered conformation, because T ¥ s T HEm H giE foaget T
eclipsed conformation has no torsional strain. 3 ,
(4)  The eclipsed conformation of ethane is more : - ’ . = o
stable than staggered conformation even @) W w1 TR FE, ik geen § afew
though the eclipsed conformation has T § SafE e e § wie forgedt %1
torsional strain. ) o a2 %
hich of the fﬂllow_i_ng,;ms the order of a8k % WF:;:::;: RN

arrangement does not_ ththe variation of
mmﬁmﬁ%ﬁL =

(1) _Li<Dbla <K <Rb (increasing metallic radh%)/
M MgZ+ <Na* <F- (increasing ionic
size)

3 B<Cc< ]\(‘50 (increasing first fonisation

enthalpy)
4) 1<Br<Cl<F (increasing electron gain
enthalpy)

The rate of a first-order reaction is 0.04 mol |~ 151
at 10 seconds and 0.03 mol -1 s~ at 20 seconds
after initiation of the reaction. The half-life period

K»: O \0\1.

145.

(1) Li<Na<K<Rb (T & wfeas fa=m

(2) APt <Mg?* <Na*t <F {a’ﬁ?ﬁgﬁ safaes
FR)

(3) B<C<N <O (7 &N w97 s v )

(4)  1<Br<Cl<F (=g g Ty afes wiwd )

145, U WuH Fife 1 sifufwan = 2 afufea w65
F 10 sec FME 0.04 mol -1 s~ ! T 20 sec M.
0.03mol =151 1 35 wfufn =i =1 smg ==
%

(1) 541s -
24.1s

of the on is :
541s

@)

(2 241s _G%L{ OKNQ-CQU?’QJ 3
o wis _COBL Tl o [
4415 oL ( S

len copper is heated with conc. HNO, it )

od &

W Cu(NO),and NO 2

(2)  Cu(NO,),and NO, 3

(3 Cu(NO,),and NO (4)

)
147.

Ina protein molecule various amino acids are linked

Cu(NOy),, NOand NO, %

- ether by - — (1)
(1)  dative bond (2)
(2)  @-glycosidic bond 3)

3)

\_/(“)/ peptide bond

148.  Fog s a colloidal solution of -

B - glycosidic bond (4)

(1) .Gasin gas (1)
Liquid in gas @

(3  Gasin liquid (3)

(1) Solid in gas (

3
QA FLAA WDy, 2 T NOy ), ANy

)
F1H= HNO, ¥ 519 7 73 7 a1 8

148, oy Freisd faem £ (g

341 'ML
e

Cu(NO,), FENLO
Cu(NO,), FINO,
Cu(NO,), 3R NO
Cu(NOs),, NO STNO,

3|

147. W 319 # fafum T one vw g G g2 A 8

T FEY F g
a-mmﬁm

B-‘FI!E'E‘II‘GI“SEF m_ﬁm _ \
etz s Em ' '

5 4 g w0
mizgas

aﬁ ﬁ.ﬁni Cuh\w

e oo
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Match items of Column I with the items of | 149, w0y | % Iocra F1 @ 1 # Io0i@ © foemd | o
Column Il and assign the correct code : ¥ ugfa ®
Column [ Column 11 —m I
(a) |Cyanide process i) |Ultrapure Ge -
(b) | Froth ﬂoatadfﬂ-ﬂ“""# Dressing of ZnS (@) [efaee whu @ Sfaega Ge
process () [ w7 fafy () | 7ns = yamm
(c) |Electrolytic reductionf}(iii) | Extraction of Al ) )
(d)|Zone refining J“ﬂ/ Extraction of Au (©) ﬁgﬂ syt swee () Al Frei
(v) |Purification of Ni @ [zm ot W) fAu f
v) [Ni =1 v
me:() B © @ el
a c
) i) & &) 6 v (@ () (g (d
- wi Fum o @ G ) )
T (i @ @ @ @ @) 0
@ @ @@ o @ @ @ 6O
@ M @@ @) (v (4) ) @) @) (iv)
150. Which opegiven below is a non-reducing sugar? | 150, =1 § | A U s YR ?
\_/(2/&::1 - (1 W
(2) Maltose ~ R
(3) Lactose - 5 e
4) Glucose ~ ,
4) , TgFH
The ¢or te; t ding RNA and DNA,
e e regerTe = 151. RNA U3 DNA ¥ ford wét &om shmen: 2

€0 )
S
e sugar component in RNA is ribose and
the sugar component in DNA is

152,

respectively is :

(1) The sugar component in RNA is
2'-deoxyribose and the sugar component in
DNA is arabinose,

(2)  The sugar component in RNA is a:a.bmg_séq

and the sugar component in DNA is

’zieg_y_rm A"
The sugar component in RNA is arabinose
and the sugar component in DNA is rib%

O]

The correct thermodynamic conditions for the
spontaneous reaction at all temperatures is :

() AH<0and AS<0
(2) AH <Dand AS=0
(3) . AL>0and AS<0

AH<0and AS>0 —

4

-—

4

:?t'

A

b 152,

RNA T veht1 92 2’ -fesifdiuzam st DN/
| v wew SfEEE

RNA ¥ & 925 aftfada & aiw pNA 1
R a2 2 -feaTadEEm 7

RNA H widar 52 1za1g ¥ 3w DNA 8 &dn
w2 2 -fesreigas &1

RNA # &0 w2 sfifam & 3 DNA 1
IR W2 TgErE

(1

2

Tyt Al | fafEw & w=ayafdd & fod o

FHFGHE 79 &

(1) A H — -—"/
AL
& NS
V‘gQ AH<0TUIAS>0 .___}.t\
H-TA%

AH<(QTHMAS <D
AH<0TMAS=0
AH>00d91AS <0

CODE
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153. Which is the correct statement for the given acids ?

M

33

I’hospmt acid is a diprotic acid while
phosphenic acid is a monoprotic acid.

2 osphinic acid is a monoprotic acid while
phosphonic acid is a diprotic acid.
(3)  Both are diprotic acids.

(4)  Bothare triprotic acids.

154. MY and NY,, two nearly insoluble salts, have the
same K, values of 6.2 x 10~ ¥ at room temperature.
Which statement would be true in regard to MY and
NY, ?
(1) The addition of the salt of KY to solution of

MY and NY; will have no effect on their

solubilities.

(2)  The molar solubilities of MY and NY; in

ater are identical. ¥
\_/t:{({rvhe molar solubility of MY in water is less
than that of NY;,

The salts MY and NY; are more soluble in
0.5 M KY than in pure water.

155. Which of the following is an amlgesg' ?

(4)

(1) hloromycetin  ~},
Novalgin -

3)  Penicillin 2y

‘(h Stn?ptomycin'?q

@The pair of electron in the given carbanion,

CH,.C=C=is p which

orbitals ?

M spy,

@ 2 X

@ s |
N sp?

157. /Among the following, the corkect order of acidity

15

(1)  HCIO, < HCK 1:.‘*/; 1CIO < HCIO,
@ HCIO; < HCIO, < HCIO, < HCIO
()  HCIO < HCIO,£ HCIO, < HCIOY
@)  HCIO, < HCIO < HCIO, < HCIO,

158.  Which one of the following statements is
when SO, is passed through acidified K,Cr,0,
———

solution 2~
\W Cry(SOy)5 is formed.

(2)  The solution turns blue. ?O
(3)  Thesolutionis decolourized.

4)

)

505 is reduced. ,

Question Paper - 1st May

153. frefafaes 9 4 =@ @1 w9 fo3 7 ol 3 fod w1t
22

(1) wIreRfT s feniEt s & wrafs s
T UHYE HEA B
(2) RITCHfTE ST U o & St e
e fawiel s &1
@) o e v #)
@) 3 e e
154. MY U NY, &1 e sHfaers saoil i w6t & a9 w
K, F1TM, 6210~ P ugaaA &1 fra § 4 s @
FETMY TE NY, FHe v 2
(1) Ky ®EU I MY U6 NY, F faemm 8 2rem w
T faeram i guE T8 g=a 2
(2 MYTUE NY, F 9a § der faeraa 906 €1
(B) MY Fi 5 d Hier faea Ny, 3 #5981
@) MY U NY; & @&@W G 9 H go o
0.5 M KY ¥ s faea &
155, a9 @ # o g o dew 82 )
(1) FEnRmEHEt ﬂ
(2) ewtea yJ(l
3) uffafem u[
@) wEmEE
156. & 73 w0, m3csceﬁ:§msaaﬂaﬁn
A A for e | Ifeem 27
(1) sp
@ 2p @
@) sp? l/( U
@ sp?
157. FEA A sraa FIwE wE B
(1)  HCIO, < HCIO, < HCIO < HCIO,
(2)  HCIO; < HCIO, < HCIO, < HCIO
@)  HCIO <HCIO, < HCIO, < HCIO,
#  HCIO, < HCIO < HCIO, < HCIO,
158. fr=fafas 4 4 215 w1 %= v § 5@ S0, 71 3refa
KyCry0, % faemaa § | um foan s & 2
(1) 0 Cry(SOy), 741§
2 oo e vz s #
(3) Toomm tdm & s g
(4) SO, sTyaEfT gl &

---'-—...
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159. Predict the correct order among the following :

(1)  lone pair - bond pair > bond pair - bond pair
> lon - lone pair

(2 one pair - lone pair > lone pair - bond pair >

bond pair - bond pair

(3)  lone pair-lone patr > bond pair - bond pair >
lone pair - bond pair

(4) bond pal.r bond paur > lone pair - bond pair
> lone pair - lone pair

160. Two elect-rons occupvmg the same orbital are
distin d b

Spin quantum number

"\ = Oy

(2)  Principal quantum number
(3)  Magnelf quantum number
(4)  Azimuthal quantum nuriber

161. The product o s a res tion of
nitrogen with a(32 _
Lar oy 2 (0 G YNy

@ cc, J,
®

@) CaC\l3 )‘T&L

162, Natugal rubber has :
\__/ﬂ)/landom cis - and trans-configuration
2) Al cis-configuration

(3)  Alltrans-configuration
(4)  Alternate cis - and trans-configuration

163. Which one of the following orders is correct for the

bond dissociation en f halogen molecules ?

(1) F>ClL>Bry>1,

@  L>Br,>Cl>F,
\_&%Bfﬁﬁﬂz W

(4) Bl'2 > Iz > Fz > CI2

W
® " Me
O@ N Me=1_ O 0;

164. The reaction

[}on—”ﬂ‘L

can be classified as :

(1)  Williamson alcohol synthesis reaction A
\M::mson ether synthesis reacﬁnqw//

(3)  Alcohol formation reaction A
(4)  Dehydration reaction

159. 1 & | wé ww @ -

(1) T - A > s g - )
TH > THE I - G T

() T TH-TFE T > TEE TH- e
T4 > FEd g - s g

(3)  UHE T - UFH T > S g - e
T > THEEH T - s g

(4) R g - sE g > v g - s
T > THH TH - T I

160. @ S S % U # e § ¥ 39 o fead
T bk ST F o{—f
(1) W9 Foien HEm
(2 = F& g=
(3) I=FIg HEE gE
() fewreig @iy 5@
161. RS F CaC, % 9 s1fufsman 4 W 3oz # -

(1) CaXN
(2)  Ca(CN),
(3) CaCN
(4) CaCN,
162, WiEfad 1AL H
(1) e fag-ud zig-fam &
(2) st m’ﬂ_"ﬁ:qm %I

(3) =t Tm-faamm §
() TF fag-ud og-faam

163.  feiferfian # A % sw eirom smjsii 47 sy fard
T % o w2
(1) F>ClL>Bry>1,
@ L>Br,>Cl>F,
()  ClL>Bry>F,>1,
@ Br,>L>F,>Cl

164, fufma
O—OH BReH (‘JGNC?-—_-
= Fiiga fea o gwar g

(1) fafernas vewres wvem sfufea
() fafersas for gverm sfufzn

@) UeEwe fara sfufea

(4)  frsiefemm sfufea
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Its density is

o

he ionic radii of A* and B~ ions are
98xT0 W m and 1.81x10 T, The

cc—orémﬁgr; number of each ionin AB is
m 2 ) = _"\//\/0,\/717,;:2_#

¥

0 o S0l
o ¢+ oo masgs
S ! ),‘(\ 6.0
) >, =
167. At100°C the vapour pressure of a solution of 6.5 5 g of
/asoiutemlgﬂgwatensBZ IfK, =052, the
boiling point of this solution will be :
m ¢ LoD 8 L
101°C
(3)  100°C V\ b %
@ 102°C Wf%‘\
Theelmlmn_u:}g‘_lﬂgﬂ_tlﬁﬂs_nf.ﬁu.(.&m .63),
Gd [Alomé_c No. 64) Tb{Atoneym 65) are:
(1) [Xe]aif?b, . [Xeldf 75d16s2 and [Xe]df %s?
M]-lf 7h5%3 6s? an%d/[)(elélf 85d16s2
(3)  [Xel4fFsd le.fﬁxqq’?salsﬂ and [Xe]4f%s>
(4)  [Xe]4f®5d'6s?, [Xel4f75d16s2 and
[Xe]4f $5d 652 >0

169. Which of the following statements about hydrogen

is incurrg ?

; (1)  Dihydrogen does notact as a reducing agef:ﬁ
(2 ydr:gen has ﬁ1m— isotopes of which tritium
is.the mostcommon.  \A
(3)  Hydrogen never acts as cation in ionic salts.
(4) Hydronium ion, HyO* exists freely in

solution.

3
VNS

35

ithium has a bcc structure
530 kg m ~? and its atomic mass is 6.94 g mol 1.
Calculate the edge length of a unit cell of
Lithmarnietal. (N =6.02x 105 mol 1)

264 pm { - S’g ‘;

@ 154pm ¢ W
@ 32pm 9 ‘-1
4) 527pm

\J

Question Paper - 1st May
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166.

)Q/f

"

167.

168.

169.

CODE

feferam 1 bee F=1 81 79 99 530 kg m 2
Y1 TH] ZSAHM 6.94 g mol ~1 B fafamy v &
U HIH & B B A ey g},(')
(N4 =6.02x 102 mol 1) —

(1) 264pm ¥ ;
(2) 154 pm 7 { K‘ mé‘
(3) 352pm T BTV O Wil le (o N 2w
(4) 527 pm ﬁu sp;

.

A+t TE B- FmEAl aﬁ smafTs B w99
098x10- 10 mUH 181x10-10m ¥ ABH wers
A F IUHEEES e

L gt O

T 6.5 g faerd #1100 g 511 # fae== #01 100°C ™
A TE 732 mm &1 A K, =0.52:81

6
4
8

FHAIF B

(1) 103°C :
(2) 101°C : —
e LD [ ey

) 1&;

Eu (4. 63), Gd (48, 64) 3R Tb (79, 65) %
TR = &

(1) [Xel4f76s2, [Xeldf75d16s2 3T [Xe]df %652

o T

(2)  [Xelaf76s2, [Xe]df® 652 T [Xe]dfS5d16s2
(3)  [XeJ4fo5d'6s? [Xe]df75d16s2 3T [Xe]df %652
(4)  [Xel4f65d'6s2, [Xe]df 75d16s2 3T

[Xe]4f B5d16s2
Frofafaa § 4 F9 @ w99 eegem F 59 s
®2
(1)
)

TEREEINH THEF & €9 H B4 Tel FE |
TEENA & oA gaeeta § ey | enfem
T EE|

TEEITT AFE T § ¥ER F1 a7 Taen
T FAE

wEEife o, H,0* # wiae faems
W &9 H a1

()

)
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/ 170. /In the reaction
(1) NaNH,/liq.NHy (1) NaNH,/liq. NH;
(2 CH, CH, Br _ -(Z'E'CH‘ CH, Br
Xand Y are:

=2-Hexyne v

(1 -Butv
X=1-Bu Y 3-Hexyne®
X=2- Butyne Y=3-L lewcyne
X=2-Butyne; Y =2-Hexyne
nstder the following liquid - vapour equilibrium.

Liquid == Vapour

Which of the following relations is correct ?
dlnP _ AH,

Ot
dinG _ AH,

@ " we
dlnP —AH,

® T TR
dinP _ -AH,

= (4 T‘FIT a _?3_

172 hich of the following statements about the

)::mposmon of the vapour over anideal T TTiolar

< mixture of benzene and toluene is correct ? Assume

that the temperature is constant at 25°C. (Given,

Vapour Pressure Data at 25°C, benzene = Ig__s__‘k]_'_’g‘
toluene = 3.85 kPa)

(1) Notenough information is given to make a
prediction.

(2)  Thevapour will contain a higher percentage
ene.
Wour will contain a higher percentage
of toluene. a
(4)  The vapour will contain equal amounts of
benzene and toluene. R

173. Which of the following biphenyls is optically

active ?

CH,

OO |

c?fia

(1)

O\I

o0

(3)
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170.  sfafwar
1-cec NN Qe
X#y#.
1) X=1-7LEA,; Y = 23597
() X=1-ZREH; Y =385
(3)  X=2-ZTH; Y = 3-890
() X=2ZRE; Y =235
171. ¥ 53 7% 29 - 9y A,
T = Tm
A/ FF W e i
dinP _ AH,
™ GT "R
dinG _ AH,
@ ur? TR
dnP —-AH,
e T
dinP _ —AH,
@ 775
172, =i 7F 2l & 11 ey Hew fagm ¥ A
T ¥ ford Freifefaa 4 @ 99 @ o w8
FETN F o A9EE 25°C W feem (el mhap
T 25°C W 9= = 12.8 kP’a, 2iefi=3.85 kPa)
(1) STAE e 3w B et T e
| S HEHW R
(2) A @5 F st vfaemm 2
(3) A ¥ 2T = sfus wfaviaan 2em
(@) A FEE A § A v e g
173. 99 | #1791 e s afrg §7
CH,
7/ \__/ \
CH,4
O,N
O-0
o ———
I
Br Br

7\

CODE
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| 174. Which of the following reagents would distinguish
ql' cis-cyclopenta-T, 2-diol from the trans-isomer ?
|

AIPMT 2016

M

Aluminium isopropoxide

(2) Acetone -
\)})/C;zcme :
A A — I [J
@  MnO, o K

175. The correct statement regarding a carbonyl
compound with a hydrogen atom on its alpha-
_ carbon, is : -

acarbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as keto-enol tautomerism.,

a carbonyl comf)ound with a hydrogen atom
on its alpha-carbon never equilibrates with

its corresponding enol.

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as aldehyde-ketone equilibration.

—

)

(4)  acarbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is

known as carbonylation.

176. Consider the mole
of the given si

ey
—

he H—C—H bond angle in CH, is larger
tha mm.ﬁmemﬂh.%

an S sty 1 bond angle

@

The H-C-H bond angle in CH,, the
H-N-H bond angle in NH,, and the

H—0O —H bond anglein H,0 are all greater
than 90°.

The H—O-H bond angle in H,0 is larger
than the H - C— H bond angle in CH

@)

(4)  The H-O-H bond angle in H,0 is smaller
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—T..,
=~

CODE

37 Y

= F § =19 o sfusds fog-aEsmi=i,
2-ERHATA UH THF J-THEEE! | 9 Fim ?

174.

(1) Tegfatm smEEEE
2 ;
@ T -
R ) I
— 0 Mno, —_—

175, FraEife Aifs fad o -FEa ' aEsem st 3,
%ﬁanﬂw%:

e 2 T - e R ERge T
Fuftera €, 9% 3% oy At o et |

Tty ¥ 2

2 ﬂaﬁﬁamhﬂﬁzémw‘s@mm
ufegd 2, 7% FAEY A F T off
T gl

e A fmw o - 9 g )
Jufed 2, T8 T HIEY e # et 4
TR | B ¥ SR 4% WEW Ufvsane -
I G FEe B

3)

{k B L CE e ETE .
I 2, T TH FATEY A

wamﬁﬁﬂ%eﬁ‘nwm

2 ;
e O Y
CH,, NH, 37 g0 #mjsif % ford == fga 73 s
A =AW ®?

CH, § H-C-H ana'wa&vz! NH; #
H-N-H 3&4-F:0 3 stfis )

M

-
U

76.

(1)

CH, ¥ H-C-H ¥@Y-Fm, NH, #d
H-N-H J@E9-Hd9 H,OF H-0-H
sy, wdh F oo @ A ¥ |

H,0 % H-O-H ¥@E9-7m, CH, #
H-C-H sm@Eg-=m 3§ aifus &

O # H-O-H #EY-#mM, NH, ¥
H-N — H a&Ey-s1m 3 59 8

than the H— N — H bond al;l-gly‘NH,,{\/



embi

Re,

ibe

AIPMT 2016

e, \‘3( &

177. Mdtch the compounds given in colum_,lrw’th the
hybridisation and shape given in column II and
mark the correct option.

Column 1 Column 11
(a) -.’1) distorted octahedral
(b) Xc(_) ii) square planar
€ XeOF, (iii)  pyramidal
(d) XeF; V) square pyramidal
Code: \K 0
@ ® © @ Lo
M G G (iii} 4
@) ) ) (i)
@ @ GO~ (u)“‘/ lﬂ

178.  Consider the nitration of benzene using mch’d conc.
H550, and HNO,, If a large amount of 4 15
added to the mixture, the rate of nitration will be :

(1)  doubled
(2) faster

Mwer
Wlnchanged

179.  Which of the following statements

(1)  Mg>* ions arei en parts
of plants.
(2) Mg?* ions form a complex with A

Ca?* ijons are important in blood clol'tmg\/"
Ca’* jons are not important in maintaining

®)
J( the regular beating of the hean.{%

180. Which of the following has
length 7 (Free C— Q bond len,

(1) [Mn(CO) "

(3] i(CO),

@) [Co(CO)y® O

@ [Fe(COLP- [/ @ p

—olo-

f/‘ @ \F

CY
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T [ 1 fed T AT #1396 G Ud ST
fm w1 9 fod m £ = fued a9 =26 T =

N7

fafza =it |
e | WL
(a)  XeF, (i) faFa sTeweasE
(b)  XeO, (iiy = HEFe
()  XeOF, (iii)  foofEE
(d)  XeF, (iv) = ffad)
m 3 ‘ )d“ |_"
@ ® © e
m ™ O G (mf‘/ \.\ f
@ 0 @) v) ()
Gy 0 @) (v) ()
@ Gv) (@) () (1)

178.  &=14 %1 AR |G H,S0, T8 HNO, H1 39ferid
q 8w ¥ afe g8 faam # s e d KHSO,
T & Al ASS R0 T AT A
(1 =IT v
@ )
@ R 0
@) mﬁaﬁa@// X\ AT
179. Fefaf@a g a=sm" @ I|AE?
1) Mg2* A i % et sl F fad gee
- %|
() Mg+ 3TEA WA & |y Hepel 7 ¥
(3) Ca2t FFE T F9HA F o wEEy ¥
(4)  Ca?* 3 weg Tifa & fafod v § meee
T 7
180. Tre=fafaa § & fdasi ¢ - O ey e afasa

T (PR C-OFEY FEE COH 1128 A &)

(1) [Mn(CO)J* 1
@  Ni(CO),
() [Co(C0O),]® ‘ MM/
S T \ N
/ K. L_u Do-

— Mg — L

7

%

(
e
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Read carefully the following instructions:

freafafaa fder sar7 @ 2 -

1. Each candidate must show on demand his/her

Admit Card to the Invigilator.

. No candidate, without special permission of the

Superintendent or Invigilator, would leave his/
her seat.

. The candidates should not leave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Attendance
Sheet second time will be deemed not to have
handed over the Answer Sheet and dealt with
as an unfair means case.

. Use of Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

. No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

. The candidates will write the Correct Test e

Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

1. 98 9 W yes qhendf, Flws w1 wT
. anfter o1 Frllers =) fadm smfa & fan =0

. Frd@ s+ e 3w feu far wa

. geratE  wEIen afEhes 1 v afsld 2

. ite-eier § e & ferg wdendi \re & fri ud

. ol e e e i IO AN i
NP

w-TE e |
qiteedf ST WE A DL

Jufeafa-usres T gam weder foy fam =8 aiee
wien efet 74 @re | afe feel whend 3 9@ an
ufeufa-oae W eEmeR 7@ fHu A 7@ wE S
o 393 I 9 TEI A € SR 7E arfed |we
1 HIHE {1 S |

fafadi gr frafwa ¥1 3mfaa oA & ot ame
1 gen a1 & frami wd fafadl & aram am)

AT A HL ?
e T

@m@ém/ﬁmﬁﬁﬁvmﬁmmﬁﬁggg
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